State Name	County Name
Kansas	Allen
Kansas	Anderson
Kansas	Atchison
Kansas	Barber
Kansas	Barber
Kansas	Barton
Kansas	Barton
Kansas	Bourbon
Kansas	Brown
Kansas	Butler
Kansas	Chase
Kansas	Chautauqua
Kansas	Cherokee
Kansas	Cheyenne
Kansas	Cheyenne
Kansas	Clark
Kansas	Clark
Kansas	Clay
Kansas	Clay
Kansas	Cloud
Kansas	Cloud
Kansas	Coffey
Kansas	Cowley
Kansas	Crawford
Kansas	Decatur
Kansas	Dickinson
Kansas	Doniphan
Kansas	Douglas
Kansas	Edwards
Kansas	Elk
Kansas	Ellis
Kansas	Ellsworth
Kansas	Finney
Kansas	Ford
Kansas	Franklin
Kansas	Geary
Kansas	Gove
Kansas	Graham

2014	2015
Payment	yment
Rate	Rate
\$0.00	\$0.00
\$0.00	\$0.00
\$0.00	\$64.54
\$39.40	\$45.76
\$29.10	\$0.00
\$0.00	\$22.22
\$0.00	\$34.91
\$0.00	\$2.31
\$0.00	\$82.52
\$0.00	\$0.00
\$0.00	\$0.00
\$0.00	\$0.00
\$0.00	\$0.00
\$93.63	\$26.13
\$32.27	\$0.00
\$16.65	\$26.62
\$85.17	\$58.19
\$35.89	\$70.04
\$59.78	\$0.00
\$79.19	\$60.64
\$59.78	\$0.00
\$0.00	\$0.00
\$0.00	\$0.00
\$0.00	\$0.00
\$42.85	\$25.26
\$18.34	\$0.00
\$0.00	\$35.58
\$0.00	\$0.00
\$70.70	\$87.81
\$0.00	\$47.61
\$0.00	\$19.82
\$0.00	\$0.00
\$81.47	\$0.00
\$0.00	\$0.00
\$0.00	\$0.00
\$41.88	\$0.00
\$8.75	\$0.00
\$0.00	\$0.00

	2016 Bench								
2016 Bench	Mark Price			2016				2016	
Mark Yield	(2011-15	2016	2016	Maximum	2016	2016		Formula	2016
(2011-15	olympic	Benchmark	Guarantee	Payment	Actual	National	2016 Actual	Payment	Payment
olympic avg)	avg)	Revenue	Revenue	Rate	Yield	Price	Revenue	Rate	Rate
100	\$4.7900	\$479.00	\$411.94	\$47.90		\$3.4000	\$0.00	\$411.94	N/C
97	\$4.7900	\$464.63	\$399.58	\$46.46	122	\$3.4000	\$414.80	\$0.00	\$0.00
130	\$4.7900	\$622.70	\$535.52	\$62.27	151	\$3.4000	\$513.40	\$22.12	\$22.12
171	\$4.7900	\$819.09	\$704.42	\$81.91		\$3.4000	\$0.00	\$704.42	N/C
43	\$4.7900	\$205.97	\$177.13	\$20.60		\$3.4000	\$0.00	\$177.13	N/C
172	\$4.7900	\$823.88	\$708.54	\$82.39		\$3.4000	\$0.00	\$708.54	N/C
64	\$4.7900	\$306.56	\$263.64	\$30.66		\$3.4000	\$0.00	\$263.64	N/C
87	\$4.7900	\$416.73	\$358.39	\$41.67	127	\$3.4000	\$431.80	\$0.00	\$0.00
169	\$4.7900	\$809.51	\$696.18	\$80.95	164	\$3.4000	\$557.60	\$138.58	\$80.95
89	\$4.7900	\$426.31	\$366.63	\$42.63	122	\$3.4000	\$414.80	\$0.00	\$0.00
90	\$4.7900	\$431.10	\$370.75	\$43.11		\$3.4000	\$0.00	\$370.75	N/C
84	\$4.7900	\$402.36	\$346.03	\$40.24	100	\$3.4000	\$340.00	\$6.03	\$6.03
94	\$4.7900	\$450.26	\$387.22	\$45.03	145	\$3.4000	\$493.00	\$0.00	\$0.00
170	\$4.7900	\$814.30	\$700.30	\$81.43	205	\$3.4000	\$697.00	\$3.30	\$3.30
49	\$4.7900	\$234.71	\$201.85	\$23.47	111	\$3.4000	\$377.40	\$0.00	\$0.00
164	\$4.7900	\$785.56	\$675.58	\$78.56		\$3.4000	\$0.00	\$675.58	N/C
81	\$4.7900	\$387.99	\$333.67	\$38.80		\$3.4000	\$0.00	\$333.67	N/C
198	\$4.7900	\$948.42	\$815.64	\$94.84		\$3.4000	\$0.00	\$815.64	N/C
113	\$4.7900	\$541.27	\$465.49	\$54.13		\$3.4000	\$0.00	\$465.49	N/C
185	\$4.7900	\$886.15	\$762.09	\$88.62		\$3.4000	\$0.00	\$762.09	N/C
111	\$4.7900	\$531.69	\$457.25	\$53.17		\$3.4000	\$0.00	\$457.25	N/C
94	\$4.7900	\$450.26	\$387.22	\$45.03	117	\$3.4000	\$397.80	\$0.00	\$0.00
91	\$4.7900	\$435.89	\$374.87	\$43.59	109	\$3.4000	\$370.60	\$4.27	\$4.27
93	\$4.7900	\$445.47	\$383.10	\$44.55		\$3.4000	\$0.00	\$383.10	N/C
69	\$4.7900	\$330.51	\$284.24	\$33.05	107	\$3.4000	\$363.80	\$0.00	\$0.00
99	\$4.7900	\$474.21	\$407.82	\$47.42		\$3.4000	\$0.00	\$407.82	N/C
174	\$4.7900	\$833.46	\$716.78	\$83.35	187	\$3.4000	\$635.80	\$80.98	\$80.98
116	\$4.7900	\$555.64	\$477.85	\$55.56	133	\$3.4000	\$452.20	\$25.65	\$25.65
173	\$4.7900	\$828.67	\$712.66	\$82.87		\$3.4000	\$0.00	\$712.66	N/C
85	\$4.7900	\$407.15	\$350.15	\$40.72		\$3.4000	\$0.00	\$350.15	N/C
50	\$4.7900	\$239.50	\$205.97	\$23.95		\$3.4000	\$0.00	\$205.97	N/C
86	\$4.7900	\$411.94	\$354.27	\$41.19		\$3.4000	\$0.00	\$354.27	N/C
149	\$4.7900	\$713.71	\$613.79	\$71.37		\$3.4000	\$0.00	\$613.79	N/C
170	\$4.7900	\$814.30	\$700.30	\$81.43		\$3.4000	\$0.00	\$700.30	N/C
100	\$4.7900	\$479.00	\$411.94	\$47.90	138	\$3.4000	\$469.20	\$0.00	\$0.00
120	\$4.7900	\$574.80	\$494.33	\$57.48	146	\$3.4000	\$496.40	\$0.00	\$0.00
81	\$4.7900	\$387.99	\$333.67	\$38.80	111	\$3.4000	\$377.40	\$0.00	\$0.00
80	\$4.7900	\$383.20	\$329.55	\$38.32		\$3.4000	\$0.00	\$329.55	N/C

State Name	County Name
Kansas	Grant
Kansas	Gray
Kansas	Greeley
Kansas	Greeley
Kansas	Greenwood
Kansas	Hamilton
Kansas	Hamilton
Kansas	Harper
Kansas	Harvey
Kansas	Harvey
Kansas	Haskell
Kansas	Hodgeman
Kansas	Jackson
Kansas	Jefferson
Kansas	Jewell
Kansas	Johnson
Kansas	Kearny
Kansas	Kingman
Kansas	Kingman
Kansas	Kiowa
Kansas	Labette
Kansas	Lane
Kansas	Lane
Kansas	Leavenworth
Kansas	Lincoln
Kansas	Linn
Kansas	Logan
Kansas	Lyon
Kansas	Mcpherson
Kansas	Mcpherson
Kansas	Marion
Kansas	Marshall
Kansas	Meade
Kansas	Miami
Kansas	Mitchell
Kansas	Montgomery
Kansas	Morris
Kansas	Morton
	1.4101.011

2014	2015
Payment	Payment
Rate	Rate
\$46.25	\$0.00
\$91.39	\$98.39
\$95.22	\$63.46
\$25.92	\$0.00
\$0.00	\$43.91
\$44.25	\$0.00
\$15.87	\$0.00
\$0.00	\$0.00
\$79.80	\$85.62
\$0.00	\$0.00
\$17.99	\$11.98
\$0.00	\$0.00
\$0.00	\$0.00
\$0.00	\$0.00
\$29.63	\$2.70
\$0.00	\$0.00
\$78.29	\$0.00
\$0.00	\$26.77
\$0.00	\$1.27
\$35.95	\$54.22
\$0.00	\$0.00
\$0.00	\$0.00
\$0.00	\$0.00
\$0.00	\$0.00
\$44.44	\$0.00
\$0.00	\$0.00
\$0.00	\$0.00
\$0.00	\$0.00
\$0.00	\$0.00
\$0.00	\$0.00
\$8.75	\$0.00
\$50.43	\$0.00
\$104.74	\$104.74
\$0.00	\$0.00
\$60.84	\$14.67
\$0.00	\$0.00
\$10.15	\$0.00
\$93.10	\$53.28
, 00.10	755,20

	2016 Bench								
2016 Bench	Mark Price			2016				2016	
Mark Yield	(2011-15	2016	2016	Maximum	2016	2016		Formula	2016
(2011-15	olympic	Benchmark	Guarantee	Payment	Actual	National	2016 Actual	Payment	Payment
olympic avg)	avg)	Revenue	Revenue	Rate	Yield	Price	Revenue	Rate	Rate
163	\$4.7900	\$780.77	\$671.46	\$78.08	189	\$3.4000	\$642.60	\$28.86	\$28.86
188	\$4.7900	\$900.52	\$774.45	\$90.05	185	\$3.4000	\$629.00	\$145.45	\$90.05
189	\$4.7900	\$905.31	\$778.57	\$90.53		\$3.4000	\$0.00	\$778.57	N/C
42	\$4.7900	\$201.18	\$173.01	\$20.12		\$3.4000	\$0.00	\$173.01	N/C
77	\$4.7900	\$368.83	\$317.19	\$36.88		\$3.4000	\$0.00	\$317.19	N/C
156	\$4.7900	\$747.24	\$642.63	\$74.72		\$3.4000	\$0.00	\$642.63	N/C
26	\$4.7900	\$124.54	\$107.10	\$12.45		\$3.4000	\$0.00	\$107.10	N/C
71	\$4.7900	\$340.09	\$292.48	\$34.01	72	\$3.4000	\$244.80	\$47.68	\$34.01
174	\$4.7900	\$833.46	\$716.78	\$83.35	157	\$3.4000	\$533.80	\$182.98	\$83.35
78	\$4.7900	\$373.62	\$321.31	\$37.36	116	\$3.4000	\$394.40	\$0.00	\$0.00
190	\$4.7900	\$910.10	\$782.69	\$91.01		\$3.4000	\$0.00	\$782.69	N/C
143	\$4.7900	\$684.97	\$589.07	\$68.50		\$3.4000	\$0.00	\$589.07	N/C
123	\$4.7900	\$589.17	\$506.69	\$58.92	138	\$3.4000	\$469.20	\$37.49	\$37.49
129	\$4.7900	\$617.91	\$531.40	\$61.79	147	\$3.4000	\$499.80	\$31.60	\$31.60
131	\$4.7900	\$627.49	\$539.64	\$62.75		\$3.4000	\$0.00	\$539.64	N/C
106	\$4.7900	\$507.74	\$436.66	\$50.77		\$3.4000	\$0.00	\$436.66	N/C
141	\$4.7900	\$675.39	\$580.84	\$67.54	163	\$3.4000	\$554.20	\$26.64	\$26.64
174	\$4.7900	\$833.46	\$716.78	\$83.35	169	\$3.4000	\$574.60	\$142.18	\$83.35
59	\$4.7900	\$282.61	\$243.04	\$28.26	68	\$3.4000	\$231.20	\$11.84	\$11.84
186	\$4.7900	\$890.94	\$766.21	\$89.09		\$3.4000	\$0.00	\$766.21	N/C
86	\$4.7900	\$411.94	\$354.27	\$41.19		\$3.4000	\$0.00	\$354.27	N/C
169	\$4.7900	\$809.51	\$696.18	\$80.95		\$3.4000	\$0.00	\$696.18	N/C
56	\$4.7900	\$268.24	\$230.69	\$26.82		\$3.4000	\$0.00	\$230.69	N/C
117	\$4.7900	\$560.43	\$481.97	\$56.04	130	\$3.4000	\$442.00	\$39.97	\$39.97
70	\$4.7900	\$335.30	\$288.36	\$33.53	111	\$3.4000	\$377.40	\$0.00	\$0.00
93	\$4.7900	\$445.47	\$383.10	\$44.55		\$3.4000	\$0.00	\$383.10	N/C
77	\$4.7900	\$368.83	\$317.19	\$36.88		\$3.4000	\$0.00	\$317.19	N/C
93	\$4.7900	\$445.47	\$383.10	\$44.55	113	\$3.4000	\$384.20	\$0.00	\$0.00
174	\$4.7900	\$833.46	\$716.78	\$83.35	174	\$3.4000	\$591.60	\$125.18	\$83.35
78	\$4.7900	\$373.62	\$321.31	\$37.36	120	\$3.4000	\$408.00	\$0.00	\$0.00
81	\$4.7900	\$387.99	\$333.67	\$38.80	124	\$3.4000	\$421.60	\$0.00	\$0.00
125	\$4.7900	\$598.75	\$514.93	\$59.88	132	\$3.4000	\$448.80	\$66.13	\$59.88
201	\$4.7900	\$962.79	\$828.00	\$96.28		\$3.4000	\$0.00	\$828.00	N/C
102	\$4.7900	\$488.58	\$420.18	\$48.86	145	\$3.4000	\$493.00	\$0.00	\$0.00
106	\$4.7900	\$507.74	\$436.66	\$50.77	137	\$3.4000	\$465.80	\$0.00	\$0.00
84	\$4.7900	\$402.36	\$346.03	\$40.24	108	\$3.4000	\$367.20	\$0.00	\$0.00
88	\$4.7900	\$421.52	\$362.51	\$42.15	109	\$3.4000	\$370.60	\$0.00	\$0.00
177	\$4.7900	\$847.83	\$729.13	\$84.78		\$3.4000	\$0.00	\$729.13	N/C

State Name	County Name
Kansas	Morton
Kansas	Nemaha
Kansas	Neosho
Kansas	Ness
Kansas	Norton
Kansas	Osage
Kansas	Osborne
Kansas	Ottawa
Kansas	Pawnee
Kansas	Pawnee
Kansas	Phillips
Kansas	Pottawatomie
Kansas	Pottawatomie
Kansas	Pratt
Kansas	Rawlins
Kansas	Reno
Kansas	Reno
Kansas	Republic
Kansas	Republic
Kansas	Rice
Kansas	Rice
Kansas	Riley
Kansas	Rooks
Kansas	Rush
Kansas	Rush
Kansas	Russell
Kansas	Saline
Kansas	Scott
Kansas	Scott
Kansas	Sedgwick
Kansas	Sedgwick
Kansas	Seward
Kansas	Shawnee
Kansas	Shawnee
Kansas	Sheridan
Kansas	Sheridan
Kansas	Sherman
Kansas	Sherman

2014	2015
Payment	Payment
Rate	Rate
\$0.00	\$0.00
\$67.71	\$0.97
\$0.00	\$0.00
\$0.00	\$0.00
\$40.73	\$0.00
\$0.00	\$0.00
\$46.85	\$37.62
\$51.84	\$0.00
\$9.80	\$45.76
\$0.00	\$9.43
\$46.55	\$0.00
\$34.85	\$88.34
\$0.00	\$0.00
\$28.91	\$77.96
\$36.35	\$0.00
\$0.00	\$31.32
\$0.00	\$39.15
\$67.73	\$102.10
\$43.03	\$29.55
\$31.70	\$92.05
\$0.00	\$39.15
\$57.66	\$0.00
\$0.00	\$3.95
\$28.30	\$86.76
\$0.00	\$0.00
\$8.57	\$29.10
\$51.31	\$0.00
\$90.46	\$0.00
\$0.00	\$0.00
\$16.05	\$88.34
\$0.00	\$0.00
\$57.84	\$45.41
\$88.87	\$88.87
\$0.00	\$0.00
\$95.22	\$75.23
\$31.74	\$0.00
\$94.69	\$16.68
\$32.27	\$0.00

	2016 Bench								
2016 Bench	Mark Price			2016				2016	
Mark Yield	(2011-15	2016	2016	Maximum	2016	2016		Formula	2016
(2011-15	olympic	Benchmark	Guarantee	Payment	Actual	National	2016 Actual	Payment	Payment
olympic avg)	avg)	Revenue	Revenue	Rate	Yield	Price	Revenue	Rate	Rate
28	\$4.7900	\$134.12	\$115.34	\$13.41		\$3.4000	\$0.00	\$115.34	N/C
139	\$4.7900	\$665.81	\$572.60	\$66.58	145	\$3.4000	\$493.00	\$79.60	\$66.58
90	\$4.7900	\$431.10	\$370.75	\$43.11	131	\$3.4000	\$445.40	\$0.00	\$0.00
77	\$4.7900	\$368.83	\$317.19	\$36.88	102	\$3.4000	\$346.80	\$0.00	\$0.00
72	\$4.7900	\$344.88	\$296.60	\$34.49		\$3.4000	\$0.00	\$296.60	N/C
100	\$4.7900	\$479.00	\$411.94	\$47.90	117	\$3.4000	\$397.80	\$14.14	\$14.14
96	\$4.7900	\$459.84	\$395.46	\$45.98	128	\$3.4000	\$435.20	\$0.00	\$0.00
91	\$4.7900	\$435.89	\$374.87	\$43.59	140	\$3.4000	\$476.00	\$0.00	\$0.00
171	\$4.7900	\$819.09	\$704.42	\$81.91		\$3.4000	\$0.00	\$704.42	N/C
63	\$4.7900	\$301.77	\$259.52	\$30.18		\$3.4000	\$0.00	\$259.52	N/C
79	\$4.7900	\$378.41	\$325.43	\$37.84	129	\$3.4000	\$438.60	\$0.00	\$0.00
173	\$4.7900	\$828.67	\$712.66	\$82.87		\$3.4000	\$0.00	\$712.66	N/C
123	\$4.7900	\$589.17	\$506.69	\$58.92		\$3.4000	\$0.00	\$506.69	N/C
161	\$4.7900	\$771.19	\$663.22	\$77.12	154	\$3.4000	\$523.60	\$139.62	\$77.12
77	\$4.7900	\$368.83	\$317.19	\$36.88	115	\$3.4000	\$391.00	\$0.00	\$0.00
176	\$4.7900	\$843.04	\$725.01	\$84.30		\$3.4000	\$0.00	\$725.01	N/C
65	\$4.7900	\$311.35	\$267.76	\$31.14		\$3.4000	\$0.00	\$267.76	N/C
198	\$4.7900	\$948.42	\$815.64	\$94.84		\$3.4000	\$0.00	\$815.64	N/C
123	\$4.7900	\$589.17	\$506.69	\$58.92		\$3.4000	\$0.00	\$506.69	N/C
179	\$4.7900	\$857.41	\$737.37	\$85.74	177	\$3.4000	\$601.80	\$135.57	\$85.74
68	\$4.7900	\$325.72	\$280.12	\$32.57	103	\$3.4000	\$350.20	\$0.00	\$0.00
111	\$4.7900	\$531.69	\$457.25	\$53.17		\$3.4000	\$0.00	\$457.25	N/C
64	\$4.7900	\$306.56	\$263.64	\$30.66	102	\$3.4000	\$346.80	\$0.00	\$0.00
168	\$4.7900	\$804.72	\$692.06	\$80.47	180	\$3.4000	\$612.00	\$80.06	\$80.06
46	\$4.7900	\$220.34	\$189.49	\$22.03	94	\$3.4000	\$319.60	\$0.00	\$0.00
49	\$4.7900	\$234.71	\$201.85	\$23.47		\$3.4000	\$0.00	\$201.85	N/C
89	\$4.7900	\$426.31	\$366.63	\$42.63		\$3.4000	\$0.00	\$366.63	N/C
160	\$4.7900	\$766.40	\$659.10	\$76.64		\$3.4000	\$0.00	\$659.10	N/C
52	\$4.7900	\$249.08	\$214.21	\$24.91		\$3.4000	\$0.00	\$214.21	N/C
171	\$4.7900	\$819.09	\$704.42	\$81.91		\$3.4000	\$0.00	\$704.42	N/C
75	\$4.7900	\$359.25	\$308.96	\$35.93		\$3.4000	\$0.00	\$308.96	N/C
187	\$4.7900	\$895.73	\$770.33	\$89.57	194	\$3.4000	\$659.60	\$110.73	\$89.57
174	\$4.7900	\$833.46	\$716.78	\$83.35		\$3.4000	\$0.00	\$716.78	N/C
102	\$4.7900	\$488.58	\$420.18	\$48.86		\$3.4000	\$0.00	\$420.18	N/C
181	\$4.7900	\$866.99	\$745.61	\$86.70		\$3.4000	\$0.00	\$745.61	N/C
55	\$4.7900	\$263.45	\$226.57	\$26.35		\$3.4000	\$0.00	\$226.57	N/C
183	\$4.7900	\$876.57	\$753.85	\$87.66	180	\$3.4000	\$612.00	\$141.85	\$87.66
53	\$4.7900	\$253.87	\$218.33	\$25.39	87	\$3.4000	\$295.80	\$0.00	\$0.00

State Name	Garata Nama
Kansas	County Name Smith
Kansas	Stafford
Kansas	Stafford
Kansas	Stanton
Kansas	Stevens
Kansas	Sumner
Kansas	Thomas
Kansas	Thomas
Kansas	Trego
Kansas	Wabaunsee
Kansas	Wallace
Kansas	Wallace
Kansas	Washington
Kansas	Wichita
Kansas	Wichita
Kansas	Wilson
Kansas	Woodson
Kansas	Wyandotte

2014	2015
Payment	Payment
Rate	Rate
\$57.13	\$0.00
\$10.90	\$76.82
\$0.00	\$33.86
\$29.21	\$0.00
\$88.34	\$76.67
\$0.00	\$0.00
\$88.84	\$101.04
\$9.11	\$0.00
\$0.00	\$30.15
\$7.79	\$0.00
\$97.87	\$95.22
\$0.00	\$0.00
\$55.55	\$0.00
\$88.87	\$0.00
\$25.67	\$0.00
\$0.00	\$0.00
\$0.00	\$0.00
\$0.00	\$13.38

2016 Bench Mark Yield (2011-15 olympic avg)	2016 Bench Mark Price (2011-15 olympic avg)	2016 Benchmark Revenue	2016 Guarantee Revenue	2016 Maximum Payment Rate	2016 Actual Yield	2016 National Price	2016 Actual Revenue	2016 Formula Payment Rate	2016 Payment Rate
104	\$4.7900	\$498.16	\$428.42	\$49.82		\$3.4000	\$0.00	\$428.42	N/C
181	\$4.7900	\$866.99	\$745.61	\$86.70	167	\$3.4000	\$567.80	\$177.81	\$86.70
58	\$4.7900	\$277.82	\$238.93	\$27.78	77	\$3.4000	\$261.80	\$0.00	\$0.00
160	\$4.7900	\$766.40	\$659.10	\$76.64	161	\$3.4000	\$547.40	\$111.70	\$76.64
179	\$4.7900	\$857.41	\$737.37	\$85.74	175	\$3.4000	\$595.00	\$142.37	\$85.74
86	\$4.7900	\$411.94	\$354.27	\$41.19	95	\$3.4000	\$323.00	\$31.27	\$31.27
192	\$4.7900	\$919.68	\$790.92	\$91.97		\$3.4000	\$0.00	\$790.92	N/C
59	\$4.7900	\$282.61	\$243.04	\$28.26		\$3.4000	\$0.00	\$243.04	N/C
53	\$4.7900	\$253.87	\$218.33	\$25.39		\$3.4000	\$0.00	\$218.33	N/C
115	\$4.7900	\$550.85	\$473.73	\$55.09	118	\$3.4000	\$401.20	\$72.53	\$55.09
180	\$4.7900	\$862.20	\$741.49	\$86.22		\$3.4000	\$0.00	\$741.49	N/C
51	\$4.7900	\$244.29	\$210.09	\$24.43		\$3.4000	\$0.00	\$210.09	N/C
108	\$4.7900	\$517.32	\$444.90	\$51.73	125	\$3.4000	\$425.00	\$19.90	\$19.90
155	\$4.7900	\$742.45	\$638.51	\$74.25	206	\$3.4000	\$700.40	\$0.00	\$0.00
47	\$4.7900	\$225.13	\$193.61	\$22.51	117	\$3.4000	\$397.80	\$0.00	\$0.00
89	\$4.7900	\$426.31	\$366.63	\$42.63	138	\$3.4000	\$469.20	\$0.00	\$0.00
92	\$4.7900	\$440.68	\$378.98	\$44.07		\$3.4000	\$0.00	\$378.98	N/C
134	\$4.7900	\$641.86	\$552.00	\$64.19		\$3.4000	\$0.00	\$552.00	N/C